X
N

0—3

i
TTTTT I TTTT[TTTT

e
————
= :
T

|
w

1 2

3

TP n (PCA to beamline)

x107°

< o cot(y) >
o
=
a1

0.05]

-0.05

-0.15

Ratio

LI L L L L L

3
.

L T

I

; |

w

10 1 2 3

MKFIT5_T Tola-Tow,

—=— DOQM_] F

—e— DQM_mKFit_TT_retrain-lowpt

—— DQM_mkFit_TTold-lowpt

—— DOM_mkFit TT_NEWdefault_specPLess3-lowpt

100

(23 e ]
o O

< 00, > (M)

N
o

20

............................................

O Iy T

-2 -1 0 1 2

3

TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

Ratio
P
[

NLLLAN LA AN RN NN NP AN AN NN AN RN NN AR

%
+
IF.—-i- --'
==
e .
— [
e
=
e ——
i
<

o

2 -1 0 1 2

3

TP n (PCA to beamline)

<od,> (um)

TTTT T TTT

s

|
[T

-2

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


